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Loample;
Directions: Choose the word on the right —'L

that best expresses a relationship similar
to that of the original pair.

" A, car
A rose is a kind of flower. "" HAMMER: tOOI

A hammer is a kind of tool. C. computer
D. instrument

#) ROSE . FLOWER

1) TOOTHPASTE : TEETH 6) UMBRELLA : RAIN
A. hands A. wind
. B. ears . B. sun
SHAMPOO: C. hair SUNSCREEN . c. dirt
D. mouth D. air
2) WHEEL : CAR 7) CHESS : GAME
A. shoe A. dance
o B. hand PETTE - B. makeup
' C. leg ’ C. tool
D. foot D. lip
3) MOP : CLEAN 8) STUPID : INTELLIGENCE
A. burn A. respect
STEVE - B. eat Y B. food
) C. start ’ C. hair
D. cook D. clothes
4) GUITAR : INSTRUMENT 9) WALL : ROOM
A. chair A. leg
SO - B. bed RS - B. foot
) C. furniture ’ C. car
D. home D. ball
5) EARLY : LATE 10) OCTOBER : NOVEMBER
A. far A. Four
) B. fast ] B. Tuesday
NEAR - C. well SPRING ¢ C. summer
D. often D. dinner
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Answers and Explanations

1) C
Toothpaste is used to clean teeth. Shampoo is used to clean hair. Therefore (C) is correct.

2) D
By definition, a woman is female. By definition, a man is male. Therefore (D) is correct.

3) D
A mop is used to clean. A stove is used to cook. Therefore (D) is correct.

4) C
A guitar is a type of instrument. A sofa is a type of furniture. Therefore (C) is correct.

5 A
The opposite of early is late. The opposite of near is far. Therefore (A) is correct.

6) B
An umbrella can protect you from the rain. Sunscreen can protect you from the sun. Therefore (B) is correct.

7) B
Chess is a type of game. Lipstick is a type of makeup. Therefore (B) is correct.

8 C
Someone who is stupid lacks intelligence. Someone who is bald lacks hair. Therefore (C) is correct.

9) A
A wall is part of a room. A knee is part of a leg. Therefore (A) is correct.

10) C
October comes before November. Spring comes before summer. Therefore (C) is correct.



